
Séquence de Nombres Linéaires (E)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 891 841 791 741 641 491 441Différence commune:2. 722 647 572 422 272 197 122Différence commune:3. 534 514 454Différence commune:4. 636 261 186 111Différence commune:5. 653 503 403 253Différence commune:6. 757 532 457 157Différence commune:7. 490 475 465 455 445Différence commune:8. 880 580 505 355Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (E) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 891 841 791 741 691 641 591 541 491 441Différence commune: -502. 722 647 572 497 422 347 272 197 122 47Différence commune: -753. 544 534 524 514 504 494 484 474 464 454Différence commune: -104. 786 711 636 561 486 411 336 261 186 111Différence commune: -755. 653 603 553 503 453 403 353 303 253 203Différence commune: -506. 757 682 607 532 457 382 307 232 157 82Différence commune: -757. 490 485 480 475 470 465 460 455 450 445Différence commune: -58. 880 805 730 655 580 505 430 355 280 205Différence commune: -75Mathslibres.com


